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Fractioner cut : X = (e) defining shortestpath
distances disty such that

& dist (Siti) =
1

.

Volume of X : [claxe
e

Gow : Postprocess X to find an edge
cut set C (randomly sampled) It.

#[cp(C)] = volume of x

&
E(sep(c))



Pr)C separates 5 : from ti)
-Pr(dist(W) < r > dist (ti,W) dr
+ ↓'Pr (dist(tity <o < distylsi ,W do

= gadist (itil (sum of same 2 probabilites) dr
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To show : Fr this integrand is I c
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Remains for us to show: For Or <* dist (Sixtil
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ht U = Gulu = 5
,
or e = tj for some j .

d(u
, Esiti3) < r

2 12/2k.

Observe. If (Univ= 1 then either

dist(s) r <distHiT or the reverse.

Let 2"be the smallest
power

of 2

greater than or equal to(il.

Recall Yo was sampled by selecting

peq1
,

2 , t 5
,
---,] · uniformly

then each UK in SoT was included

in It indet prob. P.

Pr(p=)= Fi St
↑ ((uw = + /p = c)
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P- ((2W) = 1) > to
How to sample random C sit.

El0(k) 0 vol(x)

We already designed a "region growing"
procedure that satisfies

E 0(k) - vol()+
3

·cap() RG(P = Pr(usiongoinas
[RG)4 · xp()

justRaised
[RE( - Sep(C)

55 RS(C) = 20(0) · Sep(c)
-

ERG(C) · Sep()

then /cy under t distribution is

is O(leg k).



lensampling algorithm

repeat &
sample C using RC

calculate sep)C)
reject C with probability 1

3 until C not rejected

output C

Why does it work ?

Conditional on procedure stopping in

ieration t
,

(for
any

+)

Pr(output CI stop at /
= Protectand output 2)

Pr(stop at t)

- aftacted bet
and net retain iteration to

->(
< RG(c) · Sep(C)


